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Simplifying Radicals

Vis Step 1: Find the largest perfect square that
divides the radicand.

Step 2: Rewrite the square root as the product of

q the square root of the perfect square and the
Z other factor.

3 2 Step 3: Find the square root of the perfect
J square. m ﬁ (_I J‘q‘ \rz‘.
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What if we hav iables
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Date:

Classwork: Simplifying Radicals
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When 54/ 20 is written in simplest radical form, the
result is k~/5. What is the value of k?

What is 2/45 expressed in simplest radical form?
1) 345
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> Theo determined that the correct length of the
What is 7 expressed in simplest radical form? hypotenuse of the right triangle in the

Y= x"
/| YHe=x"
20=X"
yyz fw=X
y es {q =X
I~ 207 =X







